Maths - Friday 10th July
All the challenges are in this document – scroll down to the one you want to do OR have a go at them all! Each one gets a bit more difficult so see how many you can do!
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Challenge 1
Sal has 20 beads.

She uses some beads to make these two necklaces.

How many beads does she have left?
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Challenge 2

George is thinking of a 2 digit number.

@ My number is in
q, the S times table.

-~

©e)
My number is .
less than 80 S
The sum of the
digits is 9

What number is George thinking of?
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Challenge 3

Two numbers, A and B, are marked on the number lines.

| ! 1
200 400 T 500
A

Find the sum of A and B.
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Challenge 4

Max buys a shirt and a jacket.

The jacket costs £25 more than the shirt.
The total cost of the shirt and jacket is £87.

How much does each item cost?




